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If precipitation occurs as frozen water particles it is termed as

1. Rain
2. Dnizzle
3. Hail
4. Vapour

Options :

68019128901. 1
68019128902. 2
68019128903. 3

68019128904. 4

Question Number : 1 Question Id : 6801917356 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019128901. 1
68019128902. 2
68019128903. 3

68019128904. 4

Question Number : 2 Question Id : 6801917357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In hydrologic frequency analysis, relationship between return period in years (T) and probability
of occurrence in percent (P) in a given year 1s expressed by

.T=100P
. T=P/100
. T=P/365
. T=365P

Options :
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68019128905. 1
68019128906. 2
68019128907. 3

68019128908. 4

Question Number : 2 Question Id : 6801917357 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.T=100/P
2. T=P/100
3. T=P/365
4. T =365P

Options:

68019128905. 1
68019128906. 2
68019128907. 3

68019128908. 4

Question Number : 3 Question Id : 6801917358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DAD 1in DAD curves refers to

. Days - Area - Duration
. Depth - Area - Duration
. Duration - Area - Days
4. Duration - Area - Depth
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Options:

680191289009. 1
68019128910. 2
68019128911.3

68019128912. 4

Question Number : 3 Question Id : 6801917358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019128909. 1
68019128910. 2
68019128911. 3
68019128912. 4

Question Number : 4 Question Id : 6801917359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Erosion in numerous small channels that can be easily obliterated with normal tillage

1. Gully erosion

2. Stream channel erosion
. Mass erosion

4. Rill erosion

(%]

Options:

68019128913. 1
68019128914. 2
68019128915. 3
68019128916. 4

Question Number : 4 Question Id : 6801917359 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128913. 1
68019128914. 2
68019128915. 3

68019128916. 4

Question Number : 5 Question Id : 6801917360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A gully is said to be of medium size if it has the following characteristics

1. Width > 18 m: Depth 9 to 12 m: side slope 8-15%
2. Width < 18 m: Depth 9 to 12 m: side slope 5-7%
I 1
i 1

s

. Width < 18 m: Depth 3 to 9 m: side slope 8-15%
4. Width < 18 m: Depth 3 to 9 m: side slope 5-7%

Options :

68019128917. 1
68019128918. 2
68019128919. 3

68019128920. 4

Question Number : 5 Question Id : 6801917360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U 7T &I HeOH PR &1 Hel uidl ¢ dfc 599 Hafalad faean &

1. 9I8Ts > 18 Hiex; TexTs 9 ¥ 12 Hied, Gdg &1 gaH 8-15%
2. ST < 18 HIe, Mg 9 9 12 HieX: 9de &1 a0 5-7%
3. TSI < 18 HIeT TeE 3 § 0 Hiex; Tde F1 ea 8-15%
4. 91518 < 18 Hie, TERT; 3 ¥ 0 Hiex; Yde &1 edH 5-7%

Options :

68019128917. 1
68019128918. 2
68019128919. 3
68019128920. 4

Question Number : 6 Question Id : 6801917361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I3 in calculation of Erosion Index at 30 minute intensity refers to

1. Minimum 30 minute ramnfall intensity of the storm

2. Maximum 30 minute rainfall intensity of the storm

3. Arbitrary selection of a slot of 30 minute rainfall intensity of the storm
. The first 30 minute rainfall intensity of the storm

=y

Options:

68019128921. 1
68019128922. 2
68019128923. 3

68019128924. 4

Question Number : 6 Question Id : 6801917361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128921. 1
68019128922. 2
68019128923. 3

68019128924. 4

Question Number : 7 Question Id : 6801917362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Soil erosion by water usually occurs in the sequence:

(A). Sheet

(B). Splash

(C). Gully

(D). Rull

Choose the eorreet answer from the options given below:

(A). (B). (C). (D).
_(A). (B). (D), (C).
.(B). (A). (D). (C).
4. (C). (B). (D). (A).
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Options :

68019128925. 1
68019128926. 2
68019128927. 3

68019128928. 4

Question Number : 7 Question Id : 6801917362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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_(A). (B). (C). (D)
-(A). (B). (D). (C)
.(B). (A). (D). (C)
(C). (B). (D). (A)
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Options :

68019128925. 1
68019128926. 2
68019128927. 3

68019128928. 4

Question Number : 8 Question Id : 6801917363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Flour pellet method 1s used for measuring

. Ramndrop size

. Raindrop shape

. Raindrop mass

4. Raindrop velocity
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Options :

68019128929. 1
68019128930. 2
68019128931. 3
68019128932. 4

Question Number : 8 Question Id : 6801917363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128929. 1
68019128930. 2
68019128931. 3

68019128932. 4

Question Number : 9 Question Id : 6801917364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Spacing of spur in erosion control 1s determined by N =L/S + 1. where. (Choose based on only
those with correct deseription)
). N = Number of spurs
B). L= Total length of eroded stream bank
C). S = Size of spurs
D). I = Effective length of of spur over stream bed.
Choose the correct answer from the options grven below:

(A
(
(
(

1. (A). (B) and (D) only.
3. (A). (B) and (C) only.
3.(A). (B). (C) and (D).
4.(B).(C) and (D) only.

Options :

68019128933. 1
68019128934. 2
68019128935. 3

68019128936. 4

Question Number : 9 Question Id : 6801917364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
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Options :

68019128933. 1
68019128934. 2
68019128935. 3

68019128936. 4

Question Number : 10 Question Id : 6801917365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the different types of strip cropping

(A). Contour strip cropping

(B). Field strip cropping

(C). Buffer strip cropping

(D). Wind strip cropping

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2.(A). (B) and (D) only.
3.(B). (C) and (D) only.
4. (A). (B). (C) and (D).

Options :

68019128937. 1
68019128938. 2
68019128939. 3
68019128940. 4



Question Number : 10 Question Id : 6801917365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (C)
2.%dd (A). (B) 3R (D)
3.%dd (B). (C) 3R (D)
4.(A). (B). (C) 3R (D)

Options :

68019128937. 1
68019128938. 2
68019128939. 3
68019128940. 4

Question Number : 11 Question Id : 6801917366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify Cox's formula for Contour bunds (S is slope: X 13 Rainfall factor: Y 1s infiltration and
crop cover factor)

1.VI=03[83+2]
2.VI=[2+5/3]0.3
3.VI=(XS+Y)03
4.VI=(XS+Y)03

Options :

68019128941. 1
68019128942. 2
68019128943. 3
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Question Number : 11 Question Id : 6801917366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128941. 1
68019128942. 2
68019128943. 3

68019128944. 4

Question Number : 12 Question Id : 6801917367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What 1s the sequence of factors in a standard RUSLE equation?
(A). Rainfall factor

(B). Length and Slope factor

(C). Soil cover/vegetation and Practices factor

(D). Erodibility

Choose the correcr answer trom the options given below:

1. (A). (B). (C). (D).
2. (A). (D). (B). (C).
.(B). (A). (D). (C).
4.(C). (B). (D). (A).

Taa

Options :
68019128945, 1

68019128946. 2
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68019128948. 4

Question Number : 12 Question Id : 6801917367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128945. 1
68019128946. 2
68019128947. 3

68019128948. 4

Question Number : 13 Question Id : 6801917368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mulching helps to prevent soil erosion maimly by reducing

. Splash impact and Overland flow

. Splash impact and Gully flow

. Splash impact and Streambank erosion control
4. Overland flow and Gully flow
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Options :
68019128949. 1
68019128950. 2



68019128951. 3
68019128952. 4

Question Number : 13 Question Id : 6801917368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128949. 1
68019128950. 2
68019128951. 3

68019128952. 4

Question Number : 14 Question Id : 6801917369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which practices are agronomic measures of erosion control?
(A). Strip cropping

(B). Contour bunding

(C). Mulching

(D). Vegetative barriers

Choose the correcr answer from the options given below:

. (A). (B) and (C) only.
. (A). (B) and (D) only.
.(A). (C) and (D) only
4. (B). (C) and (D) only.
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Options :

68019128953. 1



68019128954. 2
68019128955. 3

68019128956. 4

Question Number : 14 Question Id : 6801917369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A). (B) 3R (C)
2.%dd (A). (B) 3R (D)
3.%dd (A). (C) 3R (D)
4. %ad (B), (C) 3R (D)

Options :

68019128953. 1
68019128954, 2
68019128955. 3
68019128956. 4

Question Number : 15 Question Id : 6801917370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movement of soil grains in a series of jumps is refered to as

1. Surface creep
2. Suspension

. Saltation

4. Deposition

L]

Options :



68019128957. 1
68019128958. 2
68019128959. 3

68019128960. 4

Question Number : 15 Question Id : 6801917370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128957. 1
68019128958. 2
68019128959. 3
68019128960. 4

Question Number : 16 Question Id : 6801917371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The standard conditions considered in the Universal Soil Loss Equation

. Slope length - 22.6 m: Slope steepness - 9%: Land use - fallow with ploughing
. Slope length - 22.6 m: Slope steepness - 3%: Land use - fallow with ploughing
. Slope length - 22.6 m: Slope steepness - 9%: Land use - Cropped
4. Slope length - 22.6 m: Slope steepness - 3%: Land use - Cropped
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Options :
68019128961. 1
68019128962. 2

68019128963. 3



68019128964. 4

Question Number : 16 Question Id : 6801917371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128961. 1
68019128962. 2
68019128963. 3

68019128964. 4

Question Number : 17 Question Id : 6801917372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

You are planning to construct contour bunds in your field. On what degree of slope will you get
good results?

1. 7-10 degree
2.10-12 degree
3.1-7 degree

4. 12-15 degree

Options:

68019128965. 1
68019128966. 2
68019128967. 3

68019128968. 4



Question Number : 17 Question Id : 6801917372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128965. 1
68019128966. 2
68019128967. 3
68019128968. 4

Question Number : 18 Question Id : 6801917373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In turbine pumps the flow from the impeller is

1. Radial

2. Axaal

3. No flow

4. Mixed flow

Options :

68019128969. 1
68019128970. 2
68019128971.3

68019128972. 4

Question Number : 18 Question Id : 6801917373 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Options:

68019128969. 1
68019128970. 2
68019128971. 3

68019128972. 4

Question Number : 19 Question Id : 6801917374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Pump laws for a centrifugal pump state that

(A). The head varies as the cube of the speed

(B). The head varies as the square of the speed

(C). The power varies as the cube of the speed

(D). The power varies as the square of the speed

Choose the correct answer from the options given below:

. (B) and (C) only.
. (A) and (C) only.
. (A) and (D) only.
.(B) and (D) only.

N o R

Options :

68019128973. 1
68019128974. 2
68019128975. 3

68019128976. 4

Question Number : 19 Question Id : 6801917374 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
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Options :

68019128973. 1
68019128974. 2
68019128975. 3
68019128976. 4

Question Number : 20 Question Id : 6801917375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Centrifugal-type impellers are classified as:

1. Open and enclosed

2. Open. semi-enclosed and enclosed
. Open and semi-enclosed

4. Semi-enclosed and enclosed

Taa

Options:

68019128977. 1
68019128978. 2
68019128979. 3
68019128980. 4

Question Number : 20 Question Id : 6801917375 Question Type : MCQ Option Shuffling : No Is
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Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019128977. 1
68019128978. 2
68019128979. 3

68019128980. 4

Question Number : 21 Question Id : 6801917376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Head losses in pumps are caused by

(A). Friction and turbulence in the moving water

(B). Shock losses resulting from sudden changes in momentum
(C). Leakage past the impeller

(D). Mechanical friction

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (C) and (D) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

T2

Options :

68019128981. 1
68019128982. 2
68019128983. 3
68019128984. 4

Question Number : 21 Question Id : 6801917376 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ga} & 2y &1 G691 2Hd HRU GBIl §
(A) T aTel Ut & auor 377 fGany
(B) TaT H 3@MF YRdd- & IRUTAGEY A9 81
(C) 3fde® & U9 9 @
(D) TifAd Tuoy
-t fau e fosed § O 9t IR I:
1. %ad (A), (B) 3R (D)
2.%ad (A). (C) 3R (D)

3.(A). (B). (C) R (D)
4.%ad (B), (C) 3R (D)

Options :

68019128981. 1
68019128982. 2
68019128983. 3

68019128984. 4

Question Number : 22 Question Id : 6801917377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Propeller pumps are designed principally for

1. High heads and large capacities
2. High heads and low capacities
. Low heads and low capacities
4. Low heads and large capacities

s

Options :

68019128985. 1
68019128986. 2
68019128987. 3

68019128988. 4



Question Number : 22 Question Id : 6801917377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ige U 3 4 9 34 (AU [$omza [y g

o e e St e
.3 TN 3R $H &Hand
4. fr =i 3R R e

Options :

fag a3 —

68019128985. 1
68019128986. 2
68019128987. 3

68019128988. 4

Question Number : 23 Question Id : 6801917378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

We want to construct a bench terrace on a slope of 25%. If the vertical interval is 2 m, what 13
the width of terrace?

.80m
800 m

.8m
4. 10m

Options :

LIPS I S S

68019128989. 1
68019128990. 2
68019128991. 3

68019128992. 4

Question Number : 23 Question Id : 6801917378 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 25 TR G UR &9 ¢4 @1 R0 B3 9164 6 | T7a SHEaleR Siavma 2 Hiex &, 1 8d
GRS K2

1. 80 Hiex
2. 800 Hiew
3.8 1R

4. 104X

Options :

68019128989. 1
68019128990. 2
68019128991. 3

68019128992. 4

Question Number : 24 Question Id : 6801917379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cross-sectional area of a waterway 1s calculated using the formula . where a
= area of cross-section, Q = expected maximum runoff and V = velocity of flow.

.a=(V/Q)
.a=(Q/V)
‘a=(Q/V) 100
~a=(V/Q) x 100

| e ]

e fad

Options:

68019128993. 1
68019128994. 2
68019128995. 3

6801912899%6. 4

Question Number : 24 Question Id : 6801917379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A & S-S & &1 TUH] G BT UGN IR Dl

STl . WGl 2 = SFITRI-SFUN &1 &7, Q = SUI&T SHYPdH Sudrg AR V = HdTg &1 a1l

a=(ViQ)
a=(QV)

.a=(Q/V) x 100
.a=(V/Q) x 100

e a3 =

Options :

68019128993. 1
68019128994 2
68019128995. 3

6801912899%6. 4

Question Number : 25 Question Id : 6801917380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Agroforestry System Charactersitics/Constituents
A |Farm forestry 1. |Fruit trees with fruit crops

B. |Silvipastrol svstem | II. | Trees with crops

Agri-silviculture I Trees planted along the boundaries of
system " |agricultural fields

L

Agri-horticulture
system

D.

IV, | Graszzes and trees

Choose the correct answer from the options given below:

. (A) - (IV). (B) - (II). (C) - (III). (D) - (I)
(A) - (D). (B) - IV). (C) - (III). (D) - (II)
. (A) - (D). (B) - (IV). (C) - (I1). (D) - (I)
. (A) - (). (B) - (IV). (C) - (I). (D) - (II)

b =

PSRN

Options :

68019128997. 1
68019128998. 2
68019128999. 3

68019129000. 4



Question Number : 25 Question Id : 6801917380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GAT-1 3R FEI-11 D1 gAferd o -

A 1 E
Hiy ai=et yoret| (Ogar wew
DY DI 1. |Bdl & Bl & 91y Bl & Us
fafequreia womelt | 1. |wadt & Gy Us
Hit-gae= yumel | 1. [Ea! &1 JEmsi ) @ N Us
HIY-a@EH gore | IV, [919 iR 1S

2 fEu T famedl o 9 |t SR I4:

1. (A) - (V). (B) - (I). (C) - (IIT). (D) - (I)
2.(A) - (I). (B) - (IV). (C) - (IIT). (D) - (II)
3. (A) - (IID). (B) - AV). (C) - (). (D) - (D)
4. (A) - (ITT). (B) - (IV). (C) - (I). (D) - (II)

=

o|o|w

Options :

68019128997. 1
68019128998. 2
68019128999. 3

68019129000. 4

Question Number : 26 Question Id : 6801917381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The quantity of soil moved during wind erosion is influenced by
(A). Particle size

(B). Gradation of particles

(C). Wind velocity patterns

(D). Distance on the land surface

Choose the correcr answer trom the options given below:

1. (A). (B). (C) and (D) only.
2. (A). (B) and (D) only:.
3. (A). (B) and (C) only.
4. (A). (C) and (D) only:.



Options :

68019129001. 1
68019129002. 2
68019129003. 3
68019129004. 4

Question Number : 26 Question Id : 6801917381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dTg UG & GRIF RIFGRd g1 B JE1 UHIdd gl ¢
(A) DU B HPR Y

(B) BUN & GifmR0r &

(C) ag-aT & il 8

(D) YO P FAE WG d

- feu T fosedl 4 9 |8t SR I:

1. %ad (A). (B). (C) 3R (D)
2.%dd (A). (B) 3R (D)
3.9 (A). (B) 3R (C)
4.%dd (A). (C) 3R (D)

Options:

68019129001. 1
68019129002. 2
68019129003. 3

68019129004. 4

Question Number : 27 Question Id : 6801917382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sand dunes can be stabilized by

(A). Natural regeneration of the vegetative cover
(B). Leveling

(C). Artificial ereation of the vegetative cover
(D). Use of chemicals

Choose the correct answer trom the options given below:

1. (A). (C) and (D) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019129005. 1
68019129006. 2
68019129007. 3
68019129008. 4

Question Number : 27 Question Id : 6801917382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

¥d & <1l Bl QR f6a1 & gedr 8

(A) AT H1GRUT & Wi idd Goi- 9
(B) AT ¥

(C) Tafde STaRUl & ST A0 4
(D) THEAT & STGHT H

i fau U fa el © 9§ |el SR -

1. %ad (A), (C) 3R (D)
2. Had (A), (B) 3R (D)
3. (A). (B). (C) 3R (D)

4. B (B), (C) 3R (D)

Options :

68019129005. 1
68019129006. 2
68019129007. 3

68019129008. 4



Question Number : 28 Question Id : 6801917383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If 40 m>/s is pumped into a distribution system and 30 m’/s is delivered to a turnout 3 km from
the pumps, What 1s the water conveyance efficiency?

1. 12%
2. 90%
3.75%

4.7.5%
Options :
680191290009. 1
68019129010. 2
68019129011. 3

68019129012. 4

Question Number : 28 Question Id : 6801917383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hﬁmﬂr‘.sﬁwﬁwuﬂwﬁﬁwﬁmw% 5?]?301113-55@@%3 }%ﬂﬂgaﬁﬁﬂ_{
& for faaiva fovan oaT 8, @ ot TRasH sy a2

1. 12 wfoerd
2. 90 Wi
3. 75 fowrd
4. 7.5 HicErd

Options :

680191290009. 1
68019129010. 2
68019129011. 3

68019129012. 4

Question Number : 29 Question Id : 6801917384 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Irrigation requirement (IR) over a growing season by the crop 15 caleulated using the formula
. where ET is seasonal evaporation, LR is leaching requirement. Pe 1g
effecitve ramnfall and Ea 1s application efficiency.

1.IR=[(ET-Pe)(1 +LR)]Ea

2.IR=[(ET - Pe)(LR)]/Ea

3.IR=[(Pe-ET)(1 +LR)]Ea

4. IR =[(Pe-ET)(LR)])Ea
Options :

68019129013. 1
68019129014. 2
68019129015. 3

68019129016. 4

Question Number : 29 Question Id : 6801917384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e R g6 AIGH T g 1a2ged (IR) B 70 7

P UGN IR B I ¢, o] ET I aTiaRu 2, LR FeTeH Savadd 8, Pe WTaT
91 © 3R Ea ST G613

1.IR=[(ET-Pe) (1 + LR)}Ea

2.IR=[(ET-Pe) (LR) ]Eq

3.IR=[(Pe-ET) (1 +LR))Ea

4. IR =[(Pe-ET) {LR}] Ea
Options :

68019129013. 1
68019129014. 2
68019129015. 3
68019129016. 4

Question Number : 30 Question Id : 6801917385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Crop) (Stage for irrigation)
A [Rice 1 [Silking Tasseling
B. |Wheat II. |Panicle initiation, Flowering
C. |Sorghum I11. |'Seedling, Flowering
D. |Maize IV, |Crown root initiation, Jointing, Milking

Choose the correct answer from the options given below:

1. (A) - ). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (IT). (B) - (IV). (C) - (IT). (D) - (I)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (II)

Options :

68019129017. 1
68019129018. 2
68019129019. 3

68019129020. 4

Question Number : 30 Question Id : 6801917385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 SR gEI-11 1 gafad o -

T 1 I
(@GH9) (s % g ==
A [dmEd 1. |Rafeshar, 2w
B. [T 1L (qSF]=3 S E3ATd. T
C. [<@R I11. [3g2or, guaur
D. |Hadl IV. [$BT3 ¢ B YEATd, 51, GY Tl
- feu e fde el T 9§ |el SR -

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I1). (B) - (IV), (C) - (III). (D) - (I)
3. (A)- (1), (B) - (1), (C) - (IV), (D) - (I1I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (1)



Options :

68019129017. 1
68019129018. 2
68019129019. 3
68019129020. 4

Question Number : 31 Question Id : 6801917386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Approaches adopted for irrigation scheduling

(A). Soil moisture depletion approach

(B). Plant basis or plant indices

(C). Climatological approach

(D). Critical growth approach

Choose the correct answer from the options given below:

1. (A). (C) and (D) only.
2. (A). (B) and (D) only.
. (B). (C) and (D) only.
4. (A). (B). (C) and (D).

L]

Options :

68019129021. 1
68019129022. 2
68019129023. 3
68019129024. 4

Question Number : 31 Question Id : 6801917386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Riars THg-HeRor & U 39-1E 78 g id
(a) gt & =4t ot p yeafa
(B)Wéﬂﬂﬁ?ﬁmﬂ%%qw

(C) STear] Hae U

(D) Hg@yUl [d ™ gl

- feu Y fdeedl O 9§ |el SR 94

1. %ad (A). (C) 3R (D)
2.%dd (A). (B) 3R (D)
3.%dd (B). (C) 3R (D)
4. (A). (B). (C) 3R (D)

Options:

68019129021. 1
68019129022. 2
68019129023. 3
68019129024. 4

Question Number : 32 Question Id : 6801917387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Drainage 1s poor in soil with a structure type

. Prismatic
. Platy

. Blocky
4. Granular

Options :

|

L]

68019129025. 1
68019129026. 2
68019129027. 3
68019129028. 4

Question Number : 32 Question Id : 6801917387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

= IR UBR a1l (HE] & o FeRl @RE §
1. gigH®
2. TEIGR
3. 9UgqiR
4. GMER

Options :

68019129025. 1
68019129026. 2
68019129027. 3
68019129028. 4

Question Number : 33 Question Id : 6801917388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Drainage coefficient is the depth (centimetres) of water drained off from a given area in

. 1 hour

. 2 hours

. 24 hours
4. 30 minutes

o Ba —

Options :

68019129029. 1
68019129030. 2
68019129031. 3

68019129032. 4

Question Number : 33 Question Id : 6801917388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ENIECAR RG] T T T O B TTERTs (SdtteR) B

1 Hel
12%¢
24 %¢
4. 30 fiFe

Options :

fad B2 =

68019129029. 1
68019129030. 2
68019129031. 3

68019129032. 4

Question Number : 34 Question Id : 6801917389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Drains are designed to lower and mamtain the ground water below the root zone. Based on the
position they are classified as:

1. Surface and Sub-surface drainage
2. Open drains and Relief drains

. Random field ditches and Parallel field ditches
4. Mole drains and Vertical drains

L5 )

Options :

68019129033. 1
68019129034. 2
68019129035. 3

68019129036. 4

Question Number : 34 Question Id : 6801917389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TIferdl P W5 &7 P -iid YoTe Pl BH PR SR GIY TG+ & 1078 FSTIgH oy ran g | R
& SR W 37 39 YOR dFllepd (e ol &:

1. 96 R IU-Hefe ot (ol

2. gt Arferat SR gt et

3. UEF=5 & T8 3R YR &3 715
4, 1Y BT F1icral SR FHeateR Aferdf

Options :

68019129033. 1
68019129034. 2
68019129035. 3

68019129036. 4

Question Number : 35 Question Id : 6801917390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
IChannel side slopes ratiof Texture
A |11 I. |Loose sandyv loam
B. |L5:1 II. |Clay
- 124 III. | Silt loam
D |3:1 IV, | Sandy loam

Choose the correct answer from the options given below:

1. (A) - D). (B) - (II). (C) - (IV). (D) - (I)
2. (A) - (IT). (B) - (I). (C) - (III). (D) - (IV)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (II)

Options :

68019129037. 1
68019129038. 2
68019129039. 3

68019129040. 4



Question Number : 35 Question Id : 6801917390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GAT-1 3R FEI-11 D1 gAferd o -

Gl GGlhl
41 9158 99 Ud|  [aHTEc
A 11 L (S e ae

B [15:1 1. |-t e
C.|2:1 1. | gHe
D.[3:1 Iv. [Xdieli gFe

- feu Y fdedl O 9§ |el St 4
1. (A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
2. (A) - (II). (B) - (). (C) - (1I1). (D) - (IV)
3.(A) - (D). (B) - (II). (C) - (IV). (D) - (III)

e

. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019129037. 1

68019129038. 2

68019129039. 3

68019129040. 4

Question Number : 36 Question Id : 6801917391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the sub-surface drainage method, parallel laterals enter the main line from both sides at an
angle.

1. Gridiron

2. Interceptor
3. Herrmgbone
4. Random

Options :
68019129041. 1

68019129042. 2



68019129043. 3
68019129044. 4

Question Number : 36 Question Id : 6801917391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
3Y-9g o e fafdl 8, SR urd a1 a9 U HI0 IR T 3 § HaY G

1. STl
2. RSP
3. foR@T
4. Ul

Options :

68019129041. 1
68019129042. 2
68019129043. 3

68019129044. 4

Question Number : 37 Question Id : 6801917392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Effective velocity of flow through the soil 1s proportional to hydraulic gradient.

1. Hooghoudt's Law
2. Darcy's Law

3. Pascal's Law

4. Lacey's Theory

Options :

68019129045. 1
68019129046. 2
68019129047. 3

68019129048. 4



Question Number : 37 Question Id : 6801917392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt & areny ¥ Yarg &1 YuTdl o Sdid gTd & JHUTdi g

1. §3e & fFam
2. Sl &1 HuH
3. ORah e &l HaH
4, O T [gid

Options :

68019129045. 1
68019129046. 2
68019129047. 3

68019129048. 4

Question Number : 38 Question Id : 6801917393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Single auger hole method for determination of hydraulic conductivity was developed by

1. Darcy

2. Lacey

3. Hooghoudt
4. Kennedy

Options :

68019129049. 1
68019129050. 2
68019129051. 3

68019129052. 4

Question Number : 38 Question Id : 6801917393 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

sy Ira@dl & U & o ted e 95 6fY 598 gr foe R femrmr an

1. STt

g E

Options :

68019129049. 1
68019129050. 2
68019129051. 3

68019129052. 4

Question Number : 39 Question Id : 6801917394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Level at which water stands in a well before pumping starts

1. Static water level

2. Pumping water level

. Piezometric water surface
4. Drawdown

L]

Options :

68019129053. 1
68019129054. 2
68019129055. 3

68019129056. 4

Question Number : 39 Question Id : 6801917394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ORI IR= 819 9 959 forg TR R 3 § uri giar g

1. BRI TR
2. OiE ofd TR
3. Uioifc® o Uds
4. STS13A
Options :
68019129053. 1
68019129054. 2
68019129055. 3

68019129056. 4

Question Number : 40 Question Id : 6801917395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ratio of the saturated thickness of semi previous layer to hydraulic conductivity of the vertical
tlow.

1. Hydraulic resistance

2. Hydraulic conductivity
3. Transmissivity

4. Specific retention

Options :

68019129057. 1
68019129058. 2
68019129059. 3

68019129060. 4

Question Number : 40 Question Id : 6801917395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SH1eR YaTg &l 5d1d d1adhdl & (AU 37t Ydad! Ud o] Hqw HIeTs &1 Sa1d

1. S HieRlY
2. Al Irerehdl
3. ORIl

4. fafdry ufaemor

Options :

68019129057. 1
68019129058. 2
68019129059. 3

68019129060. 4

Question Number : 41 Question Id : 6801917396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pump which does not require any external power for its operation to raise water 1s

. Centrifugal pump
. Axial flow pump
. Mixed flow pump
. Hydraulic pump

| I

(%]

ey

Options :

68019129061. 1
68019129062. 2
68019129063. 3

68019129064. 4

Question Number : 41 Question Id : 6801917396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



% U1 g ford ot I8 & foru fodt aredt wifdd ot siawadar 9l eidl o

1. 3{Udhgd T
2. &Y yarg gy
3. ff9d vare g

4. TS olfer® o1
Options :
68019129061. 1
68019129062. 2
68019129063. 3

68019129064. 4

Question Number : 42 Question Id : 6801917397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Pump efficiency i a product of the following efficiencies
(A). Hydraulic efficiency

(B). Volumetric efficiency

(C). Mechanical efficiency

(D). Water conveyance efficiency

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (A). (C) and (D) only.

L]

Options :

68019129065. 1
68019129066. 2
68019129067. 3
68019129068. 4

Question Number : 42 Question Id : 6801917397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U g PR gerel o U SdE &
(A) TS gerdl

(B) 3T G&fdl

(C) Tif® g&fdr

(D) STd URde- g&dl

- feu Y fd@edl § 9§ |el SR 4

1. %ad (A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %ad (A). (C) 3R (D)

Options:

68019129065. 1
68019129066. 2
68019129067. 3
68019129068. 4

Question Number : 43 Question Id : 6801917398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The plotting of flow rate vs pump efficiency gives shaped curve.

1. 'U" shaped
2. Inverted 'U" shaped
. 'N' shaped
4. Inverted N' shaped

L]

Options:

68019129069. 1
68019129070. 2
68019129071.3

68019129072. 4

Question Number : 43 Question Id : 6801917398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Jalg 23 ST 9T S&fdl &1 3aE 3R BT T Sdl 6

1. U ATPR DI

2.3l U HIDIR P

3. N' HIPR I

4. JeclI N' AP P
Options:

68019129069. 1
68019129070. 2
68019129071. 3
68019129072. 4

Question Number : 44 Question Id : 6801917399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Movement of water through a column of soil 18 called

. Percolation

. Infiltration

. Seepage

4. Precipitation

|

L]

Options :

68019129073. 1
68019129074. 2
68019129075. 3

68019129076. 4

Question Number : 44 Question Id : 6801917399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 & U WY & 1™ § UHl &) A Dl CTARUIRIEA

EIES R
3= E
REEuEE
4. 3{@egu

Options :

fad bJd =

68019129073. 1
68019129074. 2
68019129075. 3
68019129076. 4

Question Number : 45 Question Id : 6801917400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Evapotranspiration estimation methods include

(A). Energy balance and microclimatological methods
(B). Soil-water balance method

(C). From meteorological data

(D). Pan evaporation

Choose the correct answer from the options given below:

. (A). (B) and (D) only.
. (A). (B). (C) and (D).
. (B). (C) and (D) only.
4. (A). (C) and (D) only:.

|

Taa

Options :

68019129077. 1
68019129078. 2
68019129079. 3

68019129080. 4

Question Number : 45 Question Id : 6801917400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



argleESiA e fafedl o 2 € -

(A) Foil Hda- 3R Y& sierarg Hadi fafeat
(B) HaT-oId S fafg

(C) TIHS T TSI ¥

(D) T

- feu T faedl O 9§ |5t O I:

1. %ad (A). (B) 3R (D)
2.(A). (B). (C) 3R (D)

3.%dd (B). (C) 3R (D)
4. %ad (A). (C) 3R (D)

Options:

68019129077. 1
68019129078. 2
68019129079. 3
68019129080. 4

Question Number : 46 Question Id : 6801917401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following soil water 1s available to the plants?

1. Hygroscopic water
2. Capillary water

3. Gravitational water
4. Free water

Options :

68019129081. 1
68019129082. 2
68019129083. 3
68019129084. 4

Question Number : 46 Question Id : 6801917401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

froafafed & 9 H-d yi-sa 9l & fau Suas 82

1. TGS ofcl

2. HIRIDT o

3. TTXc@Ib YU Od]

4. WG oA
Options :

68019129081. 1
68019129082. 2
68019129083. 3
68019129084. 4

Question Number : 47 Question Id : 6801917402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The volume of water present in the total volume of pores of soil refers to

1. Degree of saturation
2. Volume wetness

3. Mass wetness

4. Mositure tension

Options :

68019129085. 1
68019129086. 2
68019129087. 3
68019129088. 4

Question Number : 47 Question Id : 6801917402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



firgt & sl o ot AT H HIGE U S HE 1 Hafid SRl s -

Gl AR P
. TTA el
TSl Bl AT
4. 3Tedl 919

Options :

o b2 —

68019129085. 1
68019129086. 2
68019129087. 3

68019129088. 4

Question Number : 48 Question Id : 6801917403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ground water exploration methods for sub-surface investigation are
(A). Test drilling

(B). Electric logging

(C). Gamma-ray logging

(D). Electrical resistivity

Choose the correcr answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
.(B) and (C) only

4. (B). (C) and (D) only.

Taa

Options :

68019129089. 1
68019129090. 2
68019129091. 3

68019129092. 4

Question Number : 48 Question Id : 6801917403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Y-IAE SATHU &P e1U UoTd S=ayuy fafermi 8
(A) T fgfedm

(B) galfded QAT

(C) TTHIX AIRAT

(D) faggd ufcRTudI

- feu Y fd@ el O 9§ |el SR 4

1. %ad (A). (B) 3R (D)
2.9 (A). (B) 3R (C)
3.%dd (B) 3R (0)

4. %ad (B), (C) 3R (D)

Options:

68019129089. 1
68019129090. 2
68019129091. 3
68019129092. 4

Question Number : 49 Question Id : 6801917404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Property Type of aquifer
A | Transmissibility I. |Unconfined percentage
B. |Hydraulic conductivity| II. |Confined. Semi-confined
C. |Specific yvield ITI. |Semi-confined aquifer
D. |Hydraulic resistance | IV |All aquifers

Choose the correct answer from the options given below:

L. (A) - (). (B) - (I). (C) - (III). (D) - (IV)
2. (A) - (D). (B) - (IV). (C) - (I). (D) - (III)

3.(A) - (D). (B) - (I). (C) - (IV). (D) - (IIT)
4. (A) - (D). (B) - (IV). (C) - (D). (D) - (I)
Options :

68019129093. 1
68019129094. 2

68019129095. 3



68019129096. 4

Question Number : 49 Question Id : 6801917404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 SR YEI-11 1 gafed o -
Gl T
s

TAYd PSR
A |ORITHA &Fdr | 1 |eifaiEd wide
B. [zdgemar | 1. [HifEq. o gt
c |ARw3uw | |sef difd sayd
D [zdmufRiy | 1v [od Seya

-9 fEU T faedl ® 4 |at SR -

- (A)- (D). (B) - (). (C) - (IIT). (D) - (IV)
. (A) - (D). (B) - (IV). (C) - (1), (D) - (I1I)
. (A) - (). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

fag Bd —

Options :

68019129093. 1
68019129094. 2
68019129095. 3

68019129096. 4

Question Number : 50 Question Id : 6801917405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Volume of water released or stored per unit surface area of the aquifer per unit change in the
component of head normal to that of surface.

1. Specitic yield

2. Specific retention

3. Coefficient of storage
4. Hydraulic resistance



Options :

68019129097. 1
68019129098. 2
68019129099. 3
68019129100. 4

Question Number : 50 Question Id : 6801917405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y o TIfd SIS e 8 Y SIS 70 A1 SUEHd U 1 A i s Sas p A
I Ued B uRad gidi g

1. faf¥y 3uw

2. fafRmy yfduro
3. HSRU BT [UIH
4. 5419 UicR1Y

Options:

68019129097. 1
68019129098. 2
68019129099. 3

68019129100. 4

Question Number : 51 Question Id : 6801917406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Specific yield values for different sub-soil mereases for soil types in the following sequence:
(A). Clay

(B). Coarse sand

(C). Silt

(D). Fine sand

Choose the correct answer from the options given below:

L. (A).(C). (B). (D).

2. (A). (B). (C). (D).

3. (B). (D). (C). (A).

4. (A). (C). (D). (B).
Options :

68019129101.1
68019129102. 2
68019129103. 3
68019129104. 4

Question Number : 51 Question Id : 6801917406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fafir 3u-firet o foru fafkry Sus ged (efciad ssa § gl & YeRT & fau gdl o

(a) FoHt g
(B) HIeI W
(C) e
(D) Fo A Xd
4 feu U fasedi & § 9@t SR T
1. (A). (C). (B). (D).
2. (A).(B). (C). (D).
3. (B). (D). (C). (A)
4.(A). (C). (D). (B)
Options :

68019129101. 1
68019129102. 2
68019129103. 3

68019129104. 4



Question Number : 52 Question Id : 6801917407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Depth of well is the sum of

(A). Depth of water table below ground surface

(B). Storage depth

(C). Height of the well above ground surface

(D). Drawdown

Choose the correcr answer tfrom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (A). (C) and (D) only.

T

Options:

68019129105. 1
68019129106. 2
68019129107.3

68019129108. 4

Question Number : 52 Question Id : 6801917407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

P BT TERS AT E

(A) ST BT JAE P -id D ofdl Wk P IG5 P
(B) HERUI & TEXTS &I

(C) THA DI I8 9 SR PU DI SHAg DI

(D) SIET3 Bl

- fqu T faedl O 9§ |t Ok I:

1. %4d (A). (B) 3R (D)
2.%4ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D)

4. %4d (A). (C) 3R (D)

Options :

68019129105. 1

68019129106. 2



68019129107. 3
68019129108. 4

Question Number : 53 Question Id : 6801917408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Battery of wells is gpecially adopted under following conditions
(A). Shallow water table

(B). Installation of medium and deep tube wells 1s not economical
(C). Hydraulic chararactersitics of the aquifer are poor

(D). Salts are present in the deeper layers

Choose the correct answer trom the options given below:

1. (A). (B). (C) and (D).
2. (A). (C) and (D) only:.
. (A). (B). and (C) only.
4. (B). (C) and (D) only.

L]

Options:

680191291009. 1
68019129110. 2
68019129111.3

68019129112. 4

Question Number : 53 Question Id : 6801917408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Pofl 1 dedl B 9y =9 ¥ Fafeiad uRiRifadl § so=mn S &:
(A) [T 9d-uy

(B) HeOH 3R 8¥ c@dd & RIMUH] il 761 8idl §

(C) STaYd DI Zdg faLvard @R ©

(D) T8l Rl § |aul HINlE gid &

- feu Y fd@edl O 9§ |el SR 4

1. (A). (B). (C) 3R (D)

2.%qd (A). (C) 3R (D)
3.%ad (A). (B). 3R (C)
4. %ad (B), (C) 3R (D)

Options:

68019129109. 1
68019129110. 2
68019129111.3

68019129112. 4

Question Number : 54 Question Id : 6801917409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Well drilling equipment Charactersitic/type of function
A |Percussion drills L Dolling {.;'EEP hD}EE B
unconsolidated formations
B. |Rotary drills II. |Drilling 1n hard rock areas
Down- the- holes Operating tool 1n up and down
&5 : 118 :
hammer drills motion
D. |core drills v To obtain uncontaminated
samples

Choose the correcr answer from the options given below:

L. (A) - (ID). (B) - (I). (C) - (II). (D) - (IV)
2.(A) - (I). (B) - (I). (C) - (III). (D) - (IV)
3.(A)-(1). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (D). (D) - (II)

Options :

68019129113. 1



68019129114. 2
68019129115. 3

68019129116. 4

Question Number : 54 Question Id : 6801917409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i1 3R I ol gAfeid @Y -
! I

T Gt

e &4 & ARuan / teR
A |oie fecg o %{Tﬁ;ﬁﬂmdwﬁﬁué&%—d
B. Wil fgew 11. |efa 9em asf o fgfem
c [FETEEmER |, [SR o @l i H dEr
D. [®R & IV, |G 5 T 3l @ e
-9 feu e fds el § 9§ |el SR -

1. (A) - (III). (B) - (I). (C) - (II). (D) - (IV)
2.(A)- (D). (B) - (IT). (C) - (III). (D) - (IV)
3.(A) - ({@). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options:

68019129113. 1
68019129114. 2
68019129115.3
68019129116. 4

Question Number : 55 Question Id : 6801917410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Gravel pack ratio (P-A) generally ranges from

1.2-4
2.4-9

3. 10-12
4.12-16

Options :

68019129117. 1
68019129118. 2
68019129119.3

68019129120. 4

Question Number : 55 Question Id : 6801917410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jqel U SUTd (U1-T) 38 IR &R §9 &< 8Id1 &

1.2-4
2.4-9

.10-12
4.12-16

Options :

L]

68019129117.1
68019129118. 2
68019129119. 3
68019129120. 4

Question Number : 56 Question Id : 6801917411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Types of Remote sensing Classification criteria
A |Active remote sensing i [. |Based on number of spectral bands
B. |Microwave remote sensing | II. |Based on sensor platform
C. |Awborne remote sensing IT1. |Based on source of energy
D. |Multispectral remote sensing| IV. |Based on spectral regions

Choose the correct answer from the options given below:

1. (A) - (). (B) - (IV). (C) - (IIT). (D) - (II)
2. (A) - (). (B) - (IV). (C) - (IT). (D) - (I)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

Options :

68019129121. 1
68019129122. 2
68019129123.3

68019129124. 4

Question Number : 56 Question Id : 6801917411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A1 3R FEI-I1 D1 Ghferd o3

I GGl
e IR & 1R Fiffevor Ads

A |Gferg e 9igT 1. |quisheia &S &1 el & YR R
B. [AE®ide fme ¥R | 1. [ddes g9 W snuifa

C. |ooeH e Tfin | [ & 9ia W emenfg

D. A eaed faare S| v [auimdig amtf w anuia

e feu e fomedl 7 9 Het SR -

1. (A) - (D), (B) - (IV). (C) - (IIT). (D) - (II)
2. (A) - (IIT), (B) - (IV). (C) - (I1). (D) - (T)
3. (A)- (1), (B) - (1), (C) - (IV), (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :



68019129121.1
68019129122. 2
68019129123. 3

68019129124. 4

Question Number : 57 Question Id : 6801917412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1I LISTII
Spectral region Fields of remote sensing
A IMiddte infrared | T Surface heat capacity, surface
temperature
B. |Near infrared II. [Land cover, biological properties
Thermal Surface physical properties, atmospheric
B B L B
infrared precipitation

Surface chemical composition,

D. |[Microwave IV. ; : g
atmospheric chemical composition

Choose the correct answer from the options given below:

- (A) - (III). (B) - (II). (C) - (I). (D) - V)
. (A) - (ID). (B) - (IIT). (C) - (I). (D) - (IV)
. (A) - (IV). (B) - I). (C) - (I). (D) - (III)
4. (A) - (ITI). (B) - (AV). (C) - (I). (D) - (II)

fag b2 —

Options :

68019129125. 1
68019129126. 2
68019129127.3
68019129128. 4

Question Number : 57 Question Id : 6801917412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 SR gEI-I1 D1 gafad o -

1 I
Hed & fyre IR & &
A [Femad | 1 [Gdg &1 S &HdT, aE @1 auEe

EE MG
pns I | YfH TR0, Sifde o0

C. |yt e | 1L |[gde o i 7o, argH sy aui
. [9d8 &1 THEHE S3EE. dagHed

D. [geA T IV S
-t fau T o ed § O 9t SR I:

1. (A) - dID). (B) - (II). (C) - (I). (D) - (IV)
2.(A) - (II). (B) - (II). (C) - (I). (D) - (IV)
3. (A) - (IV). (B) - (IT). (C) - (D). (D) - (IIT)
4. (A) - (). (B) - AV). (C) - (I). (D) - (II)

Options :

68019129125. 1
68019129126. 2
68019129127.3

68019129128. 4

Question Number : 58 Question Id : 6801917413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The wavelength of the spectral regions in the electromagnetic spectrum increases i the
sequence:

(A). Microwave

(B). Visible

(C). Thermal Infrared

(D). Near Infrared

Choose the correct answer from the options given below:

L. (B). (A). (C). (D).

2. (B). (D). (C). (A).

3. (B). (A). (D). (C).

4.(C). (B). (D). (A).
Options:

68019129129. 1



68019129130. 2
68019129131. 3

68019129132. 4

Question Number : 58 Question Id : 6801917413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[aged-das g quichd  quichiig &3 1 a¥iT o &l 59 3shd H 96 oildl §
(A) JeH T

(B) faviaa

(C) YHT avad

(D) Auigld! i

- feu Y ol O 9§ |el SR I

.(B). (A). (C). (D)
.(B). (D). (C). (A)
.(B). (A). (D). (C)
-(C). (B). (D). (A)

a3 =

e g

Options:

68019129129. 1
68019129130. 2
68019129131. 3

68019129132. 4

Question Number : 59 Question Id : 6801917414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When we make a false colour composite and allot Red colour to NIR., Green colour to Red and
Blue colour to Green bands, the vegetation in the image is represented by

1. Green colour
2. Red colour
3. Blue colour
4. Violet colour

Options :



68019129133. 1
68019129134. 2
68019129135. 3

68019129136. 4

Question Number : 59 Question Id : 6801917414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Wd g1 TS Tdd 31 YaIeH §1d g 3R T, 3T, AR, DI 71l . 31 3 & o g 37 3R
T B UlEal & foru Hier ¥ Sfdfed o §, al o ¥ ol &l SR o g

EUE]
GISEUE:]
3.9 T g
4. Y

Options:

68019129133. 1
68019129134. 2
68019129135. 3

68019129136. 4

Question Number : 60 Question Id : 6801917415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Gully formation has different stages. Arrange each stage in the correct sequence of their
development

(A). Gully heads get enlarged and the gully bed gets depended

(B). Local vegetation begins to establish

(C). Channel erosion

(D). Gully stabilizes

Choose the correct answer from the options given below:



Options :

68019129137. 1
68019129138. 2
68019129139. 3
68019129140. 4

Question Number : 60 Question Id : 6801917415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl & TREAT & AeHT-feH TRUT I & | TD TRU1 Bl 390 [9PTY & TgI v 1§ ogared
Ny

(A) 7Tl & R G5 81 91 § 3R 7Tl &7 ad 3fav &l Sidl &

(B) WHIg gl wiftd g @ift 8

(C) I7d R

(D) 7Tt Ryl &1 el @

el fU 77U fasedl © § §8t SR -

Options :

68019129137. 1
68019129138. 2
68019129139. 3

68019129140. 4

Question Number : 61 Question Id : 6801917416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wischmeter and Snuth (1978) gave the growth stages for calculation of the crop management
tactor. Put them in the right sequence:

(A). Establishment

(B). Stubble

(C). Seed bed

(D). Growing period

Choose the correct answer from the options given below:

A).

—
—,

. C).
2 D).
A).
A),

e

B). D
A). B
D)

— — — —
A — —
e e et

P i B i i

QU SR S

C).
.(B).
AC),

~._.—‘\._.—‘-\_,.-
— — —
et Mt

C).
D).

.l.;(..u
-_P‘

B

—

Options :

68019129141. 1
68019129142. 2
68019129143. 3

68019129144. 4

Question Number : 61 Question Id : 6801917416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ@?%aﬁ?@aumsﬁWWWWﬁmﬁﬁuﬁamimﬁm3%%"[
thH :

(A) RIYAT
HEEIN
(c) faars
(D) G I 3(dfd
T2 fu T fosedl © § 98 SR E:
1.(A). (B). (C). (D)
2.(C). (A). (D). (B)
3.(B). (C). (A). (D)
4.(C), (D). (A). (B)
Options :

68019129141.1
68019129142. 2
68019129143. 3

68019129144. 4



Question Number : 62 Question Id : 6801917417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum permissible velocity (cm/'s) in case of earthen channels for various soil types
increases in the order

@{jSﬂndandsﬂt

(B). C

(C). Loanlandsaﬂdwinanl

(D). Clay loam

Choose the correct answer from the options given below:

1. (A). (C).(B). (D)
2. (A). (C). (D). (B)
3.(B). (A). (D). (C)
4. (B). (D). (C). (A)
Options:

68019129145. 1
68019129146. 2
68019129147. 3

68019129148. 4

Question Number : 62 Question Id : 6801917417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁm;ﬁr{ﬁﬁ@%ﬁmfﬁgﬁ%mﬁwﬁﬁa{ﬁw 30 97 (T Te By o
gedl

A)YT ARG

(B) -l firgt

(C) aTe 3R Xt aie

(D) feit firgh gme

1< feu e foed] & 3 gt SR -

Options:



68019129145. 1
68019129146. 2
68019129147. 3

68019129148. 4

Question Number : 63 Question Id : 6801917418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISY I. : LISTIT
Method for estimating :
ET Equation

ETg= c (W.R,)

Modified Blanely-

Ciddle anefiuod [. |where, W 15 a weighting factor depending on

temperature and altitude, B 1s the solar

radiation at the ground level
ETy= KF : Epa”

B. |Radiation method | IL

where, E,,, 1s pan evaporation, K, is the pan
coefficient

ETg = c [P(0.46T + 8)]

Modified ; : a
B TuRRen S ouma III. |where, T is mean daily temperatures and P 1s

method . 2 -
the mean daily percentage of annual day time
hours

ETg= c (W Rn) + (1-W) £(x) (ea - ed)

where, W 1s a weighting factor depending on
D. |Pan Evaporation | IV. [temperature, Rn is the net radiation, fu) wind
related function, (eq - ed) 1s the difference
between saturation vapour pressure and mean
actual pressure.

Choose the correct answer from the options given below:

(A) - (II). (B) - (I). (C) - (IV). (D) - (1)
(A)- (). (B) - (II). (C) - (IIT). (D) - (IV)
. (A) - (). (B) - (II). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)

faa o —

Options:
68019129149. 1

68019129150. 2



68019129151. 3

68019129152. 4

Question Number : 63 Question Id : 6801917418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 SR FEI-11 D1 gaferd o -
a1 T I
i8F
HTHTT Dt TS
faftr

AR S ETy =c (W.Rs), 98] W dl9HMH 3R

Al I |391E & YR WX YR TR &, Rs
o ST TR X OR fafaer g

ET; =Kp . Epan, G[‘_E:'TEpa_n o9

B. |fafeeorfafy | I 5 2 %o BT 2]
P ETy =c [P (0.46T + 8)], &l T 4d
C- |ty I IZAe auAF g iR pafti® g &

90 & Hel &1 3Ed o uagd 8|
ETy; =c (W.Rn)=(1-W) f (u)
(ca - ed). S8 W dTUHM & ATYR R

i SJHIE I & Bn GIGTU f(u
D. |8 X Hdﬁﬁﬁﬂ%ﬁmgma ed}Q }
g% Ga1d 3R aRa® Gag & §id &l
AW B

i< feu e fgsedl § 4 |8t SR -

1. (A) - ID). (B) - (I). (C) - (AV). (D) - (II)
2.(A)- (D). (B) - (). (C) - (III). (D) - (IV)
3.(A) - (D). (B) - (IT). (C) - (IV). (D) - (II)
4. (A) - (). (B) - (AV). (C) - (I). (D) - (II)

Options:

68019129149. 1
68019129150. 2
68019129151.3

68019129152. 4



Question Number : 64 Question Id : 6801917419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Pressure Characteristic
A |Atmospheric pressure| 1. |Sub-atmospheric pressure
B. |Absolute pressure II. |Barometric pressure
C. |Gauge pressure III. |Absolute zero is taken as datum
D. [Vacuum pressure IV, |Local atmospheric pressure as datum

Choose the correct answer from the options given below:

- (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
- (A) - (D). (B) - (II). (C) - (IV). (D) - (I)
. (A) - (D). (B) - (). (C) - (IV). (D) - (I1I)
- (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

|

e T

Options:

68019129153. 1
68019129154. 2
68019129155. 3

68019129156. 4

Question Number : 64 Question Id : 6801917419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



g1 SR gEI-I1 D1 gafad o -

T 1 I
CEIE] i
A |grgFEdg gad| L [SU-argHS Y geTg
B. quigemE II. [ageEd gaE
c. [ecam 111 |FRUE 3 &l &0 & U H RETSIa g
D. |Fald ga@ |1V, [ad & ©0 H G argHsaE gad
- feu Y fased! & 4 |t 3R I

1. (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
2. (A) - (IT). (B) - (). (C) - (IV). (D) - (I)
3.(A)- D). (B) - (D). (C) - (IV). (D) - (III)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (II)

Options:

68019129153. 1
68019129154. 2
68019129155. 3
68019129156. 4

Question Number : 65 Question Id : 6801917420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-I(Theory Proposed) with List-II(Law):

LISTI LISTII
Theory proposed Law

A [n‘rens;r}' of pressure at a point in a static fluad 15 b |Sickets Taw
equal 1n all directions

B. Ter?nmal velocity 1s directly proportional to 1. |Darcv's Law
radius of sphere :
Flow of water through soil could be compared to

C. |the flow of heat through metal bar or flow of ITI. |Pascal's Law

electricity

Flow rate through the porous medium 1s directly
D. |propertional to the head loss and inversely IV, |Buckingham
proportional to the length of flow.

Choose the correct answer from the options given below:

- (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
. (A) - (IV). (B) - II). (C) - (II). (D) - (I)
. (A) - (III). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (D). (B) - (IV). (C) - (I). (D) - (II)

2 =

e faa

Options :

68019129157. 1
68019129158. 2
68019129159. 3

68019129160. 4

Question Number : 65 Question Id : 6801917420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 SR I BT gAfad oY

Gl T
GECEZICEIEED,
LS ECRE PG| ﬁ\m%m T M,

R ga ¥ us g W eaEa @) 5
digar gt femmaf f R g 5| L [io @1 FHam
JHfa| I T 3 E & e
B. P IL | Sl &1 g9
ﬁ@%mgﬁuﬁ%m;aﬁ
. | T 1 ue! O fSeiclt & Hag
¢ %mm;ﬂnﬁ%m‘ﬂﬁm 111 |URphd & HaH
gHdi gl

Qﬁ&gwmmgmmﬁma?

& o lﬂaaﬂmﬁa? N

B %Tr{ap[%msﬁmlaﬁaicﬁmgmm ™
|

-t fau T foed I O 9t SR I:

1. (A) - (). (B) - (IIT). (C) - I). (D) - (IV)
2. (A) - (IV). (B) - (ITT). (C) - (IT). (D) - (I)
3.(A)- (). (B) - (I). (C) - (IV). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019129157. 1
68019129158. 2
68019129159. 3

68019129160. 4

Question Number : 66 Question Id : 6801917421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LIST II

Terms refered to
A S. i el 1. |Average infiltration rate

Curve
B. |& - Index II. |S-hvdrograph
c W Tndex 1L Rate of rainfall abor-::- which the rainfall
equals to the runoff volume

D. |Base flow IV, | Sub-surface runoff

Choose the correct answer from the options given below:

. (A) - (ID). (B) - (IIT). (C) - (I). (D) - (IV)
. (A) - (). (B) - (IT). (C) - (II). (D) - (IV)
- (A) - (III). (B) - (IT). (C) - (I). (D) - (IV)
. (A) - (D). (B) - (IV). (C) - (I). (D) - (II)

2 =

e Laa

Options :

68019129161. 1
68019129162. 2
68019129163. 3

68019129164. 4

Question Number : 66 Question Id : 6801917421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 SR gEI-11 1 gafad o -

GGl &l o
e Hefia fParmar g
A |[ORwaw I |oied siaiga ==
B. [p-gZ@i® I wgﬁamcﬁ
¢ et [T b R A AT
D. |[3myRuare | IV [3u-gdg smaae

-2 feu e fomedl # 9 Hel SR T

L. (A) - (D). (B) - (III). (C) - (I). (D) - (IV)
2. (A) - (I). (B) - (IIT). (C) - (II). (D) - (IV)
3.(A) - (IID). (B) - (D). (C) - (I). (D) - (IV)
4. (A) - (III). (B) - (AV). (C) - (I). (D) - (I)




Options :

68019129161. 1
68019129162. 2
68019129163.3

68019129164. 4

Question Number : 67 Question Id : 6801917422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

a |rsaes I Dengn discharge capacity for open
ditches

Hooghoudt's

: II. |Soil loss equation
equation

Eate at which the auger hole filled 1s

G Crne directly proportional to the

B o III. |circumferenice of the hole and is
formula : :
iversely proportional to the cross-
sectional area
D. |Wischmeier IV |Pipe cavity method

Choose the correct answer from the options given below:

1. (A) - (D). (B) - (IIT). (C) - (I1). (D) - (IV)
2.(A)-(IV),(B) - (II), (C) - (I11), (D) - (I)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)

4. (A) - (V). (B) - (I11). (C) - (1). (D) - (II)
Options :
68019129165. 1
68019129166. 2
68019129167. 3
68019129168. 4

Question Number : 67 Question Id : 6801917422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

a1 3R g1 &1 qafea &3

el T
A |revam i §@$Wﬁésﬁ &P TS o
R P s

57 X IR 3{TR 3¢ HRI ST 8 98

C.|[amygmig  |m ?ﬁ%ﬂ“ W&Wﬁ %’é‘;ﬁmﬁ
D. |faegHmR IV ;Eq%ﬂé‘[ fafy
- feu e faeedl & 9 |8t SR I

1. (A) - (). (B) - (IIT). (C) - (II). (D) - (IV)
2. (A) - (IV). (B) - (IT). (C) - (III). (D) - (I)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (III)
4. (A)-(IV).(B) - (IIT). (C) - (I). (D) - (II)

Options :

68019129165. 1
68019129166. 2
68019129167.3
68019129168. 4

Question Number : 68 Question Id : 6801917423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Digital satellite image processing steps in proper order
(A). Image enhancement

(B). Image transformation

(C). Radiometric and geometric corrections

(D). Image classification

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (C). (B), (D). (A).
3.(B). (A). (). (D).
4. (C). (A). (B), (D).

Options :

68019129169. 1
68019129170. 2
68019129171.3
68019129172. 4

Question Number : 68 Question Id : 6801917423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

It oA I fefoied Iuie Sid TRiTH L0 9k &l 39
(A) BfdH FUR

(B) ©fg ufad

(C) AMSTMREH SR ST UR

(D) Bfd arffeH

-9 feu e fdeedl & 9§ |l St 4

1. (A). (B). (C). (D).
2. (C). (B). (D). (A).
3. (B). (A). (C). (D).
4. (C). (A). (B). (D).

Options :

68019129169. 1
68019129170. 2
68019129171.3
68019129172. 4



Question Number : 69 Question Id : 6801917424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the milestones in India's space programme in chronological order
(A). Bhaskara

(B). First SLV

(C). Aryabhata

(D). Rohim

Choose the correct answer from the options given below:

1. (A). (C). (B). (D)
2.(C). (A). (B). (D).
3.(B). (A). (D). (C)
4. (C). (B), (D). (A).

Options:

68019129173. 1
68019129174. 2
68019129175.3

68019129176. 4

Question Number : 69 Question Id : 6801917424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YRd & 3fRe BRIHH T He@yul ge131 Bl PIarhiie HH § ogaieyd &2
(A) YRR

(B) 5T TH.TAT.

(C) g

(D) feuft

- fau e faeedl & 9§ wgt 3Tk I:

1. (A). (C). (B). (D)
2. (C). (A). (B). (D).
3. (B). (A). (D). (C)
4.(C). (B). (D). (A).

Options :
68019129173. 1

68019129174. 2



68019129175. 3

68019129176. 4

Question Number : 70 Question Id : 6801917425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Steps in a flow-chart for land use planning through remote sensing
(A). Land capability classes

(B). Digital elevation model

(C). Processing of satellite data

(D). Identify the land based on slope and soil characterisitics
Choose the correct answer from the options given below:

1. (D). (C). (B). (A).
2.(C). (B). (A). (D).
3.(B). (C). (D). (A).
4.(C). (B). (D). (A).

Options:

68019129177. 1
68019129178. 2
68019129179.3

68019129180. 4

Question Number : 70 Question Id : 6801917425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e SR & gregd I YfH SUdnT A & (U wl-are & aR0l
(A) 4T egar &

(B) fsfoted S Arsa

(C) IUUE ST BT YHTHU[

(D) e 3R HET BT faguarell & YR W YH &1 gga = S0
- fau e fdeed § 9§ |el STR 94

1. (D). (C). (B). (A).
2. (C). (B). (A). (D).
3.(B). (C). (D). (A).
4. (C). (B). (D). (A).



Options :

68019129177. 1
68019129178. 2
68019129179. 3
68019129180. 4

Question Number : 71 Question Id : 6801917426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Characteristic of use Name
A |When water 1s pumped from the source [ |Gate stands

Control the flow of water mto the
B. 2 SR II. |Inlet structure
branches of the pipeline

C When the pipeline 1s installed on steep 1 Float valve

" |slopes stand

D Open stand structure used in semi-closed

= M e V. |Overflow stands

Choose the correct answer from the options given below:

(A) - (II). (B) - (I). (C) - (IV). (D) - (III)
. (A) - (). (B) - (IIT). (C) - (II). (D) - (IV)
(A) - (). (B) - (II). (C) - (IV). (D) - (I1I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

g b —

Options:

68019129181. 1
68019129182. 2
68019129183.3

68019129184. 4

Question Number : 71 Question Id : 6801917426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (II). (B) - (I). (C) - (IV). (D) - (1II)
2. (A) - (1) (B) - (III). (C) - (IT). (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019129181. 1
68019129182. 2
68019129183.3
68019129184. 4

Question Number : 72 Question Id : 6801917427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Manning's roughness coefficient (n) varies with type of surface, while calculating time of
concentration of the catchment. Arrange the surface types in increasing order for 'n'

(A). Pasture or average grass

(B). Cultivated row crops

(C). Smooth impervious surface

(D). Tumberland with deep forest litter

Choose the correct answer from the options given below:

Options :



68019129185. 1
68019129186. 2
68019129187. 3

68019129188. 4

Question Number : 72 Question Id : 6801917427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019129185. 1
68019129186. 2
68019129187.3

68019129188. 4

Question Number : 73 Question Id : 6801917428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of C factor in the RUSLE equation for different landuse types in decreasing order will
be

A). Forests

. Bare

. Row crops
. Pasture
Choose the correct answer from the options given below:

(

(B)
(©)
(D)

Options :

68019129189. 1
68019129190. 2
68019129191. 3

68019129192. 4

Question Number : 73 Question Id : 6801917428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wm@aﬂnwﬁ%ﬁumamaﬁwﬁcwmmmﬁmﬁm
(A) ST

(B) URdl
(C) Ufddas; B
(D) =RITe = _
- feu U fasedl & § 98t SR -
1. (A). (D). (C). (B).
2. (A). (C). (B). (D).
3.(B). (A). (D). (C)
4.(C). (B). (D). (A).
Options :

68019129189. 1
68019129190. 2
68019129191. 3

68019129192. 4



Question Number : 74 Question Id : 6801917429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Total depth of irrigation required by a crop (cm) to come to maturity 1s termed as its Delta.
Arrange the given crops in increasing value of Delta.

(A). Sugarcane

(B). Wheat

(C). Maize

(D). Cotton

Choose the correct answer from the options given below:

Options :

68019129193. 1
68019129194. 2
68019129195. 3

68019129196. 4

Question Number : 74 Question Id : 6801917429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (C), (B), (A), (D).
2.(C). (B). (D). (A).
3.(C). (A), (D), (B).
4.(C). (A). (B). (D).
Options :

68019129193. 1



68019129194. 2
68019129195. 3

68019129196. 4

Question Number : 75 Question Id : 6801917430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A flowing well getting its supply from an aquifer where the water 1s under such high pressure
that it overtlows at the top 1s called

. Artesian well

. Semi-artesian well
. Water tube well

4. Skimming well

T =

Options :

68019129197. 1
68019129198. 2
68019129199. 3

68019129200. 4

Question Number : 75 Question Id : 6801917430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U S0 53 il U Seyd § 391 3TYfcl W1 R X8l & 96l 9kl 301 9= Gald 4 § [
g $WR §¢ WKl &

1. 1 Bl
2. 4= P

3. 9008 Pl
4. fepfimpar

Options :

68019129197. 1

68019129198. 2



68019129199. 3
68019129200. 4



